[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

................................................

&

1.0

Ratio

o
©
a

‘
+
I
t
Ll
H
¥

=
2
N

10 1 10 0?
TP vertr (cr%)

—=— DQM_TT _original

Efficienq —— DQM_TT_newscoreonlyINIT

~ 0.5
20.45
o
> 04
>
2
50.35
0.3
0.25]
0.2
0.15
0.1
0.05

effic

Vs

Ratio
N

= S S P,
o S kol
= g S P
FEo.oo.... PO FE s R | P
-....|....|** i't...l....
R A . UGV N G -

0.95!

30 -20 -10 0 10 20 30

TP vert z (cm)

[Effici

ency vs.sim PV z |

~ 0.5
>
B.0.45
=
175} 0.4
20.35
0.3
£0.25
(]
0.2
0.15
0.1
0.05

iency

1.0

Ratio

eSS ssss
2
)
)
¥
n
T
d
1
H

0 5 0 5 0 15 20

éim. PV z (cm)



	Contents
	Page 1


